
Question Answer

1

a) Annie’s number is 315
b) 100 more than Annie’s number is 415
c) 10 more than Annie’s number is 325
d) 1 more than Annie’s number is 316

2

a) 491
b) 591

501
492

c) 391
481
490

3

a) 800
b) 485
c) 690
d) 147

4

a) 372
b) 190
c) 713
d) 705

5

a) 779
b) 235
c) 290
d) 394

6

a) 100 more than 763 is 863
b) 865 is 100 more than 765
c) 403 is 100 less than 503
d) 1 less than 300 is 299
e) 10 less than 109 is 99
f) 962 is 10 less than 972
g) 698 is 1 less than 699

7 502, 412 or 403

8

9
990

Y3 – Autumn – Block 1 – Step 9 – Find 1, 10 or 100 more or less Answers
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